C-CORPORATION TAX 101:

A PAINFUL YET “SIMPLE” EXAMPLE s

OREGON LEGISLATIVE REVENUE OFFICE 2/13/2017
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BUSINESS INCOME TAXATION IN OREGON

* PERSONAL INCOME TAX
* SOLE PROPRIETORS (SCHEDULES C & F)
e PASS-THRU ENTITIES

PARTNERSHIPS (SCHEDULE E)
S-CORPORATIONS (SCHEDULE E)
LIMITED LIABILITY COMPANIES (SCHEDULE E)

e CORPORATION EXCISE TAX
* S-CORPORATIONS
* C-CORPORATIONS

OREGON ONLY (NEXUS, UNITARY, BUSINESS /NON-BUSINESS, APPORTIONMENT ARE NOT ISSUES)
MULTI-STATE, SEPARATE (UNITARY IS NOT AN ISSUE)

MULTI-STATE, COMBINED /CONSOLIDATED (NEXUS, UNITARY, BUSINESS /NON-BUSINESS, APPORTIONMENT ARE
SIGNIFICANT ISSUES) --- FOCUS OF THIS PRESENTATION
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KEY TERMS

NEXUS
UNITARY

BUSINESS INCOME / NON-BUSINESS INCOME
ALLOCATION (NON-BUSINESS INCOME)
APPORTIONMENT (BUSINESS INCOME)

* SINGLE SALES

* TANGIBLE AND INTANGIBLE /SERVICES

* JOYCE VS FINNIGAN

* COST OF PERFORMANCE VS MARKET BASED
¢ THROWBACK SALES

* PUBLIC LAW 86-272



~ ONE C-CORPORATION TAXPAYER

Federal Return: $88M in U.S. Sales and $13M in Taxable Income
\

$3M sales & $1M income from WA rental property

Baseball

Corp A: $21M of sales in WA
$9M of sales in OR* Corp A

Furniture Manufacturer BB, LLC: $5M sales & $2M income in KY
Located in WA

__________________________________ Bats, LLC

*Solicitation of sales only

Corp C: $7M of sales in OR
($2M performed in OR)

$13M of sales in ID

Corp B: $12M of sales in OR
$18M of sales in WA¥*

Tangible Personal Property
Corp B g Corp C
Cabinet Manufacturer Interior Design Firm
Located in OR Located in ID

Intangible /Service
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~ UNITARY DETERMINATION o

1) NEXUS: THE CORPORATION FILED A TAX RETURN, INDICATING SOME LEVEL OF NEXUS
2) UNITARY: THE CORPORATION CLAIMS A, B, & C ARE UNITARY, BUT BB, LLC IS NOT
3) BUSINESS INCOME / NON-BUSINESS INCOME

Federal Return: $88M in U.S. Sales and $13M in Taxable Income
A

$3M sales & $1M income from WA rental property

!

Baseball Uni’rqry: Remove BBI LLC

Corp A: $21Mof salesin WALy = e e ($5M sales & $2M income)

$9M of sales in OR* Corp A
Furniture Manufacturer . .
BB, LLC: $5M sales & $2M income in KY 3 : .
o Located in WA Non-business Income: Remove WA
rental property ($3M sales & $1M
Corp B: $12M of sales in OR Corp.C: SZM ofisals QR income)

($2M performed in OR)

$18M of sales in WA* $13M of salesin ID

Tangible Personal Property Sales: $88M - $8M = $80M >
Corp B e Corp C |nC0me:$]3M-$3M=$]OM

Cabinet Manufacturer Interior Design Firm
Located in OR Located in ID )
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Intangible /Service
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S80M in U.S. Sales and S10M in Taxable Income

Corp A: $21M of sales in WA
S9M of sales in OR*

Corp A

Furniture Manufacturer
Located in WA

*Solicitation of sales only

Corp B: S12M of sales in OR
$18M of sales in WA*

Tangible Personal Property
Corp B & =

Cabinet Manufacturer
Located in OR

Intangible/Service

Corp C: S7M of sales in OR

($2M performed in OR)
S$13M of salesin ID

Corp C

Interior Design Firm
Locatedin ID
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5) APPORTIONMENT (OF BUSINESS INCOME)

Federal Taxable Income (FTI): $10
million

12. How much can be taxed by OR,

WA, ID2

3. OR uses the share of U.S. sales
attributable to Oregon

4. Apportionment (App%) =
ORsales/USsales

5. OR Taxable Income = FTI * App%

6. The task then moves to which sales
go in the numerator? Q
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\_/ SCENARIO 1 OF 4 : OR SALES (NUMERATOR)

S80M in U.S. Sales and $10M in Taxable Income \/
S
Corp A: $21M of sales in WA
selel o el llut@lits Corp A  Tangible and Intangible/Services
Furniture Manufacturer ; )
*Solicitation of sales only Located in WA : Joyce VS Fln n Iga N
Corp C: $7M of sales in OR e Cost of Performance vs Market Based

Corp B: $12M of salesin OR

$2M performed in OR
$18M of sales in WA* ($2M performed in OR)

$13M of sales in ID * Throwback sales
* Public Law 86-272

Tangible Personal Property

Corp B

Corp C
Cabinet Manufacturer
Located in OR

Interior Design Firm
Located in ID

Intangible/Service
Current Law

Joyce: A is not taxable (OR activity is solicitation of sales); B is taxable (located in OR); Corp C is taxable (some services performed in OR)
COP: Relevant only for determining which Corp C sales are included

Oregon Sales = $0 (A) + $12M (B) + $18M (B) + $2M (C) = $32M
o
A: OR activities protected by PL 86-272 so the $9M into OR is throwback to WA App% = $32M/$80M = 40%

B: $12M of OR sales; Y\’A activity pro’r.ec’red by PL 86-272 so $T 8M is .’rh.rowchk. to OR OTI = $10M * 40% = $4M /
C: $2M of the OR services performed in Oregon, Income Producing Activity (IPA) in OR
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\_/ SCENARIO 2 OF 4 : OR SALES (NUMERATOR)

$80M in U.S. Sales and $10M in Taxable Income
Nt
Corp A: $21M of salesin WA i ! ]
$9M of sales in OR* Corp A  Tangible and Intangible/Services
Furniture Manufacturer , i
*Solicitation of sales only Located in WA > Joyce VS Flnnlgan
. _ ‘ Corp C: $7M of sales in OR  Cost of Performance vs Market Based
orp B: $12M of sales in OR e
$18M of sales in WA* s13Mofsalesinip  * Throwback sales
Tangible Personal Property E PUbIIC Law 86-272
Corp B Corp C
Cabinet Manufacturer Interior Design Firm
Locatedin OR Locatedin ID
Intangible/Service
SB 28

COP: Relevant only for determining which Corp C sales are included
Oregon Sales = $9M (A) + $12M (B) + $2M (C) = $23/v} :
=

A: $9M sales in OR; taxable in OR so no throwback to WA App% = $23M/$80M = 28.75%
B: $12M sales in OR; taxable in WA so no throwback to OR OTl = $10M * 28.75% = $2.875M | )
8

C: $2M of the OR services performed in Oregon, IPA in OR |
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\_/ SCENARIO 3 OF 4 : OR SALES (NUMERATOR)

$80M in U.S. Sales and $10M in Taxable Income \/
e Corp A: $21M of salesin WA
S9M of sales in OR* Corp A ] i ]
Furniture Manufacturer * Ta nglble and Inta nglble/SerVIces
*Solicitation of sales only Located in WA ; "
* Joyce vs Finnigan
. Corp C: S7M of sales in OR
Corp B: $12M of sales in OR 1 e * Cost of Performance vs Market Based

S18M of salesin WA* 13M of sales in ID
213Mof salesin e Throwback sales

Corp B Tangible Personal Property Corp C e Public Law 86-272

Cabinet Manufacturer
Located in OR

Interior Design Firm
Locatedin ID

Intangible/Service

SB 28 -1
Joyce: A is not taxable (OR activity is solicitation of sales); B is taxable (located in OR); Corp C is taxable (some services performed in
OR)

Oregon Sales = $OM (A) + $12M (B) + $18M (B) + $7M (C) = $37@
A: OR activities protected by PL 86-272 so the $9M into OR is throwback to WA App% = $37M/$80M = 46.25%

B: $12M of OR sales; WA activity protected by PL 86-272 so $18M is throwback to OR \ /
C: $7M of the OR services delivered in Oregon, production costs don’t matter ~ OTI = $10M * 46.25% = $4.625M
Nt
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\_/ SCENARIO 4 OF 4 : OR SALES (NUMERATOR)

$80M in U.S. Sales and $10M in Taxable Income \/

Nt
Corp A: $S21M of salesin WA

S9M of sales in OR* Corp A
Furniture Manufacturer

* Tangible and Intangible/Services

*Solicitation of sales only Located in WA . Joyce VS Finnigan
Dol lesin OR 5 Corp C: 57(223“?'95 i:‘ogm e Cost of Performance vs Market Based
i . pertrormed in
pstdiot sales In WA $13M of salesin ID * Throwback sales

* Public Law 86-272

Tangible Personal Property

Corp B

Corp C
Cabinet Manufacturer
Located in OR

Interior Design Firm
Locatedin ID

Intangible/Service

Both policy changes

Oregon Sales = $9M (A) + $12M (B) + $7M (C) = $28@

App% = $28M/$80M = 35% -
A: $9M of sales in OR; taxable in OR so no throwback to WA PRYoE /3 . 4

B: $12M sales in OR; taxable in WA so no throwback to OR OTl = $10M * 35% = $31E>5M :
C: $7M of the OR services delivered in Oregon, production costs don’t Ln)a'r’rer ) - )

< v



